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3x+2y+1z=11 x© =0
lx+4y+2z=12 yO =0
2x + 1y + 5z =20 20 =0
x=(11-2y-12/3 xW=(11-20-1-0)/3=3.67
y=(12-1x-22)/4 yO=(12-10-20)/4=3
z=20-2x-1y)/5 z0=(20-20-10)/5=4
xk+D) = (11 — 2y® — 1zHR) [ 3 x@=(11-23-14)/3=0.33
Yyt = (12 — 1x® — 2z0) [ 4 y@=(12-1-3.67-24)/4=0.08

k) = (20 — 2x®) — 1y®) [ 5 2@ =(20-23.67-1-3)/5=1.93



x®=(11-2-0.08 - 1-1.93) / 3 = 2.97
y®=(12-10.33-21.93)/4=1.95
23 = (20 - 2:0.33 - 1-0.08) / 5 = 3.85

x29 = (11 — 21.02 — 1-3.02) / 3 = 1.98
y©@0) = (12 - 1-2.02 — 2:3.02) / 4 = 0.99
220 = (20 — 2:2.02 — 1-0.02) / 5 = 2.99
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Dx=b- (A - D)x
x=D(b-(A-Dx)
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x1 — x1B+HD = — a—lll{cuz(xz —x2®) — -+ — a1n(n — x0M®)}
X2 — X2+ = — a—lzz{az1(x1 —x1®) — -+ — ag(xn — xn®)}
Xn — xntD) = — alnn{am(m — x1%) — an2(x2 — x2®) — - - -}

(x — x+1) = D" (A — D)(x — x®)
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3x+2y+1z=11
lx+4y+2z=12
2x+ 1y + 5z =20

x=(11-2y-12)/3
y=(12-1x-22)/4
z=(20-2x-1y)/5

x+) = (11 — 2y® — 1z®) [ 3
yktl) = (12 — 1xk+D) — 22(®) [ 4
zk+) = (20 — 2xk+D) — 1y+D) [ 5
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x©0 =0
yO =0
20 =0

xM=(11-20-1-0)/3 = 3.67
yO = (12 - 1-3.67 — 2:0) / 4 = 2.08
2= (20 - 2:3.67 — 1-2.08) / 5 = 2.12

x®=(11-22.08 - 1-2.12) / 3 = 1.57
y@=(12-1-1.57 - 2-2.12) / 4 = 1.55
2@ = (20 - 2:1.57 - 1-1.55) / 5 = 3.06



x®=(11-2-1.55 - 1-3.06) / 3 = 1.61
y®=(12 - 1-1.61 - 2:3.06) / 4 = 1.07
23 =(20-21.61-1-1.07) /5= 3.14

x®=(11-21.07 - 1-3.14) / 3 = 1.91
y®» = (12 -1-1.91 - 2:3.14) / 4 = 0.95
20 = (20 - 2-1.91 - 1-0.95) /5 = 3.05

x® = (11 - 2-0.95 — 1-3.05) / 3 = 2.02
y® = (12 - 1-2.02 — 2:3.05) / 4 = 0.97
26)= (20 - 2:2.02 — 1-0.97) / 5 = 3.00
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{0.4x1+ 1.2xs = 5.2
3.5x1 4+ 10.501x2 = 45.504

FENTIE (1, x2) = (1, 4)
fRiZ, x1® = 10 kot T B L
xok) = 1

{ x1k+H =(5.2-1.2-1)/0.4=10
a2+ = (45.504 — 3.5-10) / 10.501 = 1.002856-

n
(it — xi)2 = \/(10 —10)2+ (1.00286 — 1)2 = 0.00286
=1



